i. Z, (-‘\ (X"B)“: :.ZQ,\
=t N l

\ Qn+y — O (x__g)ﬂ"\" .——r—L——
“«E‘Mo@’\’?ﬂ—\‘”&‘a”& et ()"
T A LS VS ]
N=>co N}
=>%\(1 e Raklo Taats , ‘R-:i [a;u%?/\am‘u
Qpnu2ages &
—1<XRTLN 44X <6

a_dge_w“r\is :

_ n" n o<
XJ’:S: 2 "_r)t'(_n= %J{

N=1I
divaoork (oamonic sied)

0 n

—L). UMY
X=bl: 2o =

apnuApant, (aQMAmh‘V\@
Worwons e )

%

ca

et sy s T e e

FIND THE INTERVAL OF CONVERG ENCS

N Q____- — Wy (x-—l{.)ﬂ*" an
g \ an \"Q””‘\ (n+1)4 ()«—4)”}

= o __ﬂ_L \7&—‘#}

= x-4| <1
2 %"6 Rne Rakio Testy / oA Ko ponizh
QK)M\MJ\?‘A K‘G\
—\LU-ALLy 7AXLT,
_31. 57 e’
A=3\ 2_:7_“ A Botlh, are a}oeo\iﬁﬂﬂq O,on,vﬁb\f.em't
B oa = V2NR o3 WDJUU ve
" \l ZZ;_%Z‘- OO>Q,OV\I:@ ‘)
%\Qﬂ\:% v QDnv,o:ugm:dr
P —honi2s
(p=421)




